

$$\boxed{14} \quad (a) \quad \frac{(x-3)(x+2)}{2x-6} = \frac{(x-3)(x+2)}{2(x-3)} = \frac{x+2}{2} \quad (\underline{\underline{\text{Svar}}})$$

$$(b) \quad \frac{x^2+8x+16}{2x^2-32} = \frac{x^2+2 \cdot 4x+4^2}{2(x^2-16)} = \frac{(x+4)^2}{2(x+4)(x-4)} = \frac{x+4}{2(x-4)} \quad (\underline{\underline{\text{Svar}}})$$

Obs! $16=4^2$

$$\boxed{15} \quad \int_{-2}^5 f(x) dx = F(5) - F(-2) = -2 - (-1) = -1$$

Observera att gränser visar den primitiva funktionen F till integranden f !

↑
Arlösning i gränser ger $F(5)=-2$, $F(-2)=-1$.

$$\boxed{16} \quad f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\frac{A}{x+h} - \frac{A}{x}}{h} = \lim_{h \rightarrow 0} \frac{\frac{Ax - A(x+h)}{(x+h)x}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\frac{Ax - Ax - Ah}{(x+h)x}}{\frac{h}{1}} = \lim_{h \rightarrow 0} \frac{-Ah}{x(x+h)} \cdot \frac{1}{h}$$

$$= \lim_{h \rightarrow 0} \left(-\frac{A}{x(x+h)} \right) = -\frac{A}{x \cdot x} = -\frac{A}{x^2}$$

$$\underline{\underline{\text{Svar}}}: f'(x) = -\frac{A}{x^2}$$